1.

—(~4x-3) +4(3x +1) & Aot Ae W, x o] A2t

F5}?

@ 7 @ 12 ® 16



O 54 FolA x =2 & sz 7IAe gA4e 12d?

D 5x-3x=-10 @ 10x+ 35 =120
® 2x-1=7 ® 6+ x=4x

® x+2=0



= 5 YA x+7=5-ax 7} LA

o

3.

?
olJ

@ a=2 @ a=-1

Da=1

® a+-2

@ a#-1



x—2

2x-1=x-2, 3(x-1)

— = |

|
[
= -
. —
— |
Il I
= =
— |
| — 1
— |
I Il
Il = =
= - -
. — ™
— | |
Il I Il
= = =



A

o 40| 4¥j W} 5 vh Zet g} ofw



27

Fe Holrt A2

=
=

]

S

150

cm



axbEa+b-abT FAT 0, T
(x#3)={(2+1) =« (3*x)}

O -2x+2 @ -4x+4

@ -8x+8 ® —-10x+ 10

® —6x+6



o2 Ao A 54 713, W
AL
3 ) 8x
2 | = = —
@ XX (4><y 3y
yz
6a

® axb6+xx7=—
Tx

4 7|22 Aerste] Ueh A § &2
3a
3 ~bx(-4)=-
@ 3xa+bx(-4) P






10.

M o0 = 5 (§x+32) °F o]t} A4 35°C £ B4
QIZF?
O 84°F @ 90°F ® 95°F

@ 98°F ® 102°F

™
=

°F



11.

A0 2 vpehfjolet,

D —2x + 4y @ 6x -6y ® 6x— 10y

@ 10x + 6y ® 10x - 6y



12, x— {4 (Gx+2)} +y- % {(-15x+9) + 2} & T3] 5H¥ ax +
by +c7F EHL & W, a + b + 3¢ 9] FES Fotoiet.

D R
2%



13. of® AelA —x+5 5 Falol & AL L] WHY 3x- 6 o]
H9lth. g8 §e Fotolet,

D R
=%



14. o F 94 e A2

@O a+b=x+y°lHa-y=ux-boJth

@ 3-x=2-y©°|H6-2x=4-2y o]t}
® a+7=b+5°Ha+1=b-10°JT}
@ x=y,a=h
® 3x=5y°|H






16.

A oY o] Lol 434, Lo Hol= 15410l o 2] Ho]7}
L] 1ol 9 5 B FE o, AAE A5 WA AL fEe Wt
A& AAE 7M™ Ul € Fohefet

5 Eg Al



17.

171l 3000 €991 & 500 L&t W} 800 P42 H-S
HE o AA 714 0] 14000 Yo] HE= dta]1l g}
d7e #H ol 4=g ot et

e = 4l

2

o]

sko] 16

f

, 800



18.

ARSI ATFE o] Fio] 3 Aol 4 A FH 5 At
S, 6 A8 9 3 Ak REShekn @ ), Aol S0k Algte] 48

et 2 F-stef=h

5 L
=%

oR,

B e 7



19.

27 el FU 7] 2 o A4 2 km 2 Fol7kT, 39
o4 FOR & uhE A% 6 km 2 Flo] 2Tk T ] 2 470
Ak, Aol FA 9] Al Pofelel.

a = km



20.

® 80m

@ 100m

@ 120m

@ 140m

® 160m



